

Q. 1-6	7-12	13-27	28-35	36-39	40-56.8	56.9-66
	$36b^8 =$				$36b^7 -$	
$40b^2 -$	$40b^2 -$	$40b^2 -$			$40b^2 -$	$40b^2 =$
$44b^5 \equiv$	$44b^6 =$	$44b^6 \equiv$	$44b^6 =$	$44b^6 -$	$44b^6 =$	$44b^7 \equiv$
$46a^3 -$	$46a^3 -$		$46a^3 -$		$46a^3 \equiv$	$46a^3 -$
		$47a^2 -$	$47a^2 -$			
$47a^5 -$		$47a^5 -$			$48a^5 -$	
$48a^6 -$						
$52a^1 -$			$52a^2 -$	$52a^2 =$	$52a^2 =$	$52a^2 \equiv$
			$53a^9 -$		$53a^9 =$	$53a^9 =$
	$53b^9 -$		$53b^9 -$		$53b^9 \equiv$	
$54a^7 -$					$54a^7 \equiv$	
	$54b^9 -$					
		$55a^3 -$				
			$55a^4 -$			
	$55b^3 -$	$55b^3 \equiv$			$55b^3 \equiv$	
					$55b^4 \equiv$	$55b^4 \equiv$